60

50

40

30

20

10

2
o
™
N
<
O
oo

£ 1
>
a
8
§e)
T
o4

0.5

7000 GeV pp Top (parton level)
B L L I L T T T I B B B ]
B AQ (ttbar) (pTtt > 50) B
— —A— Pythia 6.428 370 —]
[ --8-- Pythia 6.428 391 _
— Pythia 6.428 default .
| —x- Pythia 6.428 pro-q20 _
- ]
: ' é.':i.' :
_| ., . |. , l| | | | | | | | | | | | | , N
:l T T T T | T T T T | T T T T | :
[ 4 i
NE, “'EQEQEE-EEEEEBGaaamﬂ—ﬂﬂﬂﬂaaaa-a-aaﬂﬂ _
i e v o
L 4'4"“"4-4-44-4-%-4.4..4.4-4-4-*#4 _

| " 1 1 1 1 | " 1 1 " 1 1 " | " 1 1 1 1 " | "

0 1 2 3

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


